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SECTION - A

1. Answer any five from the folloWing questions :

(a) What is Career Planning ?

(b)- Who is a TCN ?

(c) What js Workforce Dwersxty ?

(d) What do you mean by HRIS?

() What is Computerized Skill Inventory ?

(B What are Knowledge Activities ?

(8) Define Virtual Ofganization.
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SECTION ‘B

Answer any four ﬁ'om the followmg questlons

(a) Explam the major attributes for selectlon of
Expamates 5

- (b) How. does CCF help Ekpah'iates ? 5

©) Describe the dlfferent types of M oblhty 5
(d) “Diversity not only. mVOIVes

. perceive themselves, buit hoy,
~ others.” Critically analysig the

how people
they perceive
s Statement. 5
(¢) A global HRIS can “put
multinational employee d
Explain why ?

Vast amounts of
ata t? Strategic use.
. 5
(f) There are significant g differep '
management of traditiopq wces in the
knowledge works Wha are theOrl?cers ansd
y
SECTION - ¢ |

Answer any Jour from the fOllo

Win S
(a) Discuss the Externg] factors 8 questions :

of IHRM. 7 .

(b) Describe the aPPl'OaChes |
base salaries for EXpatn to establish |

7 |

. (c) Why do we need Pre-Departure Training ?

7

. (d) What are the benefits of Knowledge

- Management System ? 7

(¢)- What is Computerized HRIS and its sub-

system ?° . 2+5=7

() Describe the role of HR managers in a virtual

organization. . ' 17
CASE STUDY

Compulsory . question :

A family owned carbon steel company from
Germany has extended  into business to Hong
Kong. The owners bought a .small traditional
Chinese firm and decided to copy the successful
structure they had developed at home. This
structure was headed by three General Managers
who equally shared the responsibilities for the
business activities for the firm. The consequences
were as follows :

(i) Now the Chinese employees were assigned
tasks by the people they have never seen
before and whom they did not understand.
Many misunderstandings occured some were
quite costly.
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i) The employees back in Europe' were only
concerned with whether the assigned tasks
were completed and did not consider an
other obligations to the Chinege enq:aloyeesy
such as taking care of the relationshjps witl":
i Chinese government, baIIkS, etc.

(iii) Eventually, the local employees pecame
frustrated and were ready to leave the

company.-

The result was that the managemen; mode]
was changed again and a single Managin
pirector of the Subsidiary was accountabli
for all business activities in Hong Kong

Qucs_tions :

(@) Describe the situation with reference to s
Cross-Cultural communication dimensjop
_ S
what should have been followeq from th
nitial stage of the internationalisati()n of the
company ? I 6e

yMBAB.1,D.1,3.4 (A,B) (N/O) (4
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Paper Code : MBA-D.1 (New)
(Manufacturing Planning and Control)
Full Marks — 70

Time — Three hours

The figures in the margin indicate full marks.
for the questions.

SECTION — A
Answer all questions are compulsory.

What are the four questions that a good planner

must answer ? - 2
What are the objectives of material requirement
planning ? : . 2
What are the responsibilities of capacity

‘management ? 2

" What is shop order ? What kind of information
does it usually contain ? FR1=2

Why is feedback necessary in control system ?
‘ p

State the difference between dependent and
independent demand. 2

Where is the resourse bill used ? 2
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SECTION - B
Answer any four questions,

What are the four objectives of a firm, wishi;1g

- to maximize profit ? . 5.

9 A compény wants to produce 500 units over the.

next 3 months at a level rate. The months have
19,20 and 21 working 'days‘l'especI;iVely On an
average, how much shpuld the °°mpany produce
each day to level production ? - 5

Describe the purpose of forecasting fbr Strategic
business planning, production Plannin gld
master production planning. " an5

4. Describe inﬁpité and finite loading, 5

A work ce:ntérj is to process 150 units y
’ ts of
SG 123 .on work order 333, The se gees shal

1.5 hours and the fun time is-0.2 poyy
. . p per ay'

What is the standard time need.
' ede .
order ? o d to run the
C 5
Why is employee involvement ;: o
environment ? Portant in a JIT
| 5
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tup time is

SECTION — C

Answer any four questions.

. Describe the four pnmary manufacturing strategies.

How does each affect delivery lead time ?
5+2=7

A production line.'is to run 1000 units per month.
Sales are forecast as shown in the followihg:
Calculate the expected period ending inventory.
The opening inventory is 500 units. All periods
have same number of working days.

Period 1 2 3 |4 5 _6

Forcast : 200 | 700 | 700 | 700 | 700 700| -

Planned Production | 1000 |1000 |1000 |1000]1000{1000

Planned inventory 500

3. What is the purpose of time tenses ? Name and
. describe the three main divisions. 4+3=7

4. | Discuss the ilses of bills of material.
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) 5. Calculate the critical rates for the f

and establish in what order the Ollowmg orders Cusrently no undergraduate degrge is given in

Today’s datais 75 Y should be seen. |- business, although business courses arc taught.

The dean of the school visualizes the MBA as

[Order | DueDate | Lead Time m:—a: mterdxsclplmary program emphasizing problem

. : Remaining days Remaining days solving, communication and global awareness.

A 87 12 T Faculty expertise would be supplemented by
B 95 26 | instructors from local industry. The use of local .

< 00 | a [ TT— faculty would better connect the university with
ﬂ\._.J.._J ~ the business community and provide opportumtles _

- 6. Write a note on “Sales and Oy

; . for duates.
: pnces JPerations Planning employment of the program’s s grad
, , 7
, . In terms of competition, a major state-funded
SECTION - p ' ' university that offers an MBA is located in the
' | adjacent urban area. Strutledge hopes that state A
Case Study: . | budget cutbacks and perceptlons of overcrowded

classrooms and overworked professors at public.

Whither an MBA at Strutledge 9 institutions will open the door for a new entrant

12

, instj
education, Strutledge’s cost are Itutions of higher

enrollments are decreasing. In o ﬁr's'ng and its .
student base, build valuable ties wi th°1't to expand its B Several ‘merbers of the Board are concerned
and simply survive the Bogyy a7ea businesses - about recent reports of the dwindling value of an

considering estab of R i i
g l'Shmg an’ MBA mgramegents 5 MBA and are wondering if a better niche. could

Strutledge is a small private liberal gyt ‘ ' into the market. The Board of Regents also feels
within 50 miles of a major urban are, ; arts schoo Jocated - that the school’s small size will allow Strutledge
United States. As with most Inthe Southeast _ to tailor the MBA program more closely to area

business. needs.
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117/

~ be found with another graduate g
‘a master of science in business anal

(i) What action' would you rec

(ii) How shduld Strutledge . go' ab

egree, perhaps

ytics or

- something in the education: or healthcare field.

_ A Ommend to the
Board of Regents ? :

o out making a
strategic decision such as thig 9
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(Theory Paper) .-
Paper Code : MBA - 3.4 (A) (Old)

(International Human Resource Management)

. Full Marks — 70

Time — Three hours

The figures in the margin indicate full marks

for the questions, -

SECTION - A

1. Answer any five from the following questions :

(a) What is a Transnational Company ? 2 |

~ (b) Whois Regiocentric Approach in International

Recruitment? | 2

-(c) What is Knowledge Management System ?
2

(@ What is an Invisible Organisation? 2

() What is Fishbone Diagram? =~ . 2
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() Who is an Expatriate ? .

Training and Development 2 5
SECTION - B
9. Answer any five from the fOHOWing e .
stions :-
' (a) Mention the objectives of | '
_ HRM. 4 |
(b) What are the advantages e "
Country Nationals ? of h"‘ng Third-
4
(c) What is Company Culture 9 [Shitic s
factor for Internationg] i an important |
Management ? an Resource
| . 1+3=4
(d) Mention the purpose of MObiI'fy
i
. - 4
(e Why do we need HRIg 9
4

(f) Discuss .the. Recruitmen;
Process in Virtual Organisat-and Selection

10n
- & 4
(2) Explain the Economje Va

Human Resource Accoup B Approach of

ting_ 4
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(c) Describe the barriers to the success of a

117/63/2 (SEM-3) MBA B.1, D.1, 3.4 (A,B) N/O) (13)

SECTION - C

Is flexibility i /i | | .
& 1y important in case of International | 2. Answer any five from the following questions:

(a) State the relationship between HRM and
TQM. | 8
(b) Describe the features or characteristics of a
Virtual Organisation. 8
HRIS. 8
(d) Describe the various type of International

Employees. . 8

s the changing environment of IHRM.

(e) Discus
8

(f) Elaborate the five functional areas of ITHRM.
8

(g) Describe. the IHRM process with a diagram.
; : 8
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(Theory Papery . | 'SECTION - B

~ Paper Code : MBA-3, 4(B) ( old) . | Answer any five from the fo}lowing:
- (Manufacturing Planhing and Contro]) | 1. Describe trend, seasonality and random variation
Full Marks — 79 as applied to forecasting. | 4

Time — Three hougs © 2. Name and describe ﬁve advantages of low setup

The figures in the margin lndlcate time. o : : 4

for the questlons fg“ marks : _ _
| 3. Explain how manufacturing planning and control
i ' 3 SECTION A “affect a company’s revenue cost and assets.
i N N . 4
All questions are compulsory, S
1. What is aggrigate inventbl;y managem 2 5 4. Describe the parent component relationship. 4
en , ‘ .
2. What potential problem mlght arise by 5. A work center has 3 machines and is operated
are not used ? C Y Uime tens;s . for 8 hours a day 5 days a week. What is.the
3. What effect does a JIT enVil‘Onmem . | available time ? , |
MRP ? ) ave on ! .
, : . . o | 6. Discuss the six bottleneck principle. 4
What are three steps in mgp: - ; | | : |
4 € an Mps? 2 7. What are the objectives of distribution inventory
5, What is ATP (Available T, Promise) o 5 ; management ? 4
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. SECTION - ¢
. "Answer any five from the foll(;Wing .

1. ;];)lz‘;;f; the s.teps of sales apg ‘operationa ll‘.

2. Describe the sevéh uses of bﬂls of mateﬁal. 8

‘ ibe the primary activitj . ’

3’_ g:;:ilng and control. vitles of Manufacturing|-
' 8

4. Discuss the ’thre‘e"~ ,bagic Stratcor.
developing prodqction plan, t¢g1.e.s‘ ‘used in

o 8

s, Describe the process of back schedul] _.
. ~illing, 8

6. Using the following product tree, ' _

» Construct ¢he |

appropriate single level treeg Hovw
needed to make 50Xs and | OOYSHc;any C,S are

X

! ] Y

A2 B

c@ D ',.E"Q) |
& E(Z) .

1171632 GEMAMBABL DL, 3.4 (4 ) ooy
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7. A work center has the following ybpen orders and
week 20. Calculate. the total

“planned orders for

~ standard time (load) on this work centre in week
20 order 222 is already in progress, and there are
100 remaining to run. 8
Order | Setup | RunTime | Total
Quantity [Time(hours) | hour/piege Time(hotrs)
Released| |
orders |
222 100 0 0.2
333 156 15 02
Planned
orders _
444 200 3 0.25
sss | 300 25 0.15
70
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